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B i 1S 6-10 72-75 7.4 v
HHEE (mg/) 100 <30 <30 s
B Y48 &  (mg/) 10 <2 <2 v
WMEYEE (mg/) 2,000 249 - 249 249 =
WAL E (mg/) 10 1.80-1.8 1.8 =
F2LEE (mg/h) 0.1 <0.04 < 0.04 yass
T E RS E (me/) 100 28 - 28 28 v
HAE (mg/) 20 <10 <10 =
MéedE (mg/)) 0.5 <0.3 <0.3 =
WEr A E (me/) 1 <0.6 <0.6 =
FHEEMER (mg/l) 15 <7 <7 &
EE2EFAE (mg)) 2,000 <100 <100 s
Ak E (mg/) 200 26 - 26 26 v
(0 43 20 - 20 20 v
T V8 (mg/l) # - - - -
EEeB

B (mg/l) 2 <04 <04 s
5 (mg/l) 5 <1 <1 yoss
% (meg/) 0.1 <0.1 <0.1 s
#& (mg/D) 1 <0.3 <0.3 =
i (mg/l) 2 <05 <05 =
#r (mg/l) 2 <1 <1 yoss
i (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
#2 (mg/D) 2 <1 <1 =
$ (mg/) 2 <04 <0.4 =
# (mg/l) 5 <1 <1 =
$  (mg/D) 2 <1 <1 =
HEeBEEH# (ng) 10 <7.0 <7.0 s
B (mg/) 5 <1 <1 =
# (mg/) 10 <2 <2 =
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Aldrin (mg/l) 0.01 <0.01 <0.01 &
BHCS (mg/l) 0.01 <0.01 <0.01 &
AR LT (mgl) 0.01 <0.01 <0.01 pes
FEZELEY
HKEE (mgl) 0.1 <0.06 <0.06 s
HEMHILEY
1,1,1- = & £ 2 (mg/h) 0.05 <0.025 <0.025 v
LEBE
% & 05k 7R 48 & (mg/D) 0.003 <0.003 <0.003 =
BN B # - - -
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() =+5rgE7E @
R (ke/0.5h) 0.58 0.00 - 0.05 0.01 =
— &b (kg/0.5h) 3.86 0.01-1.52 0.18 =
BE % (kg/0.5h) 1.16 0.00 - 0.25 0.02 =
#AbE (kg/0.5h) 0.08 0.00 - 0.00 0.00 s
ALY
(L Z & 16 & &5 B§) 7.71 0.82 - 3.49 1.73 yes
(kg/0.5h)
A bk (ke/0.5h) 0.39 0.00 - 0.05 0.00 v
— & Lk (keg/0.5h) 1.93 0.00 - 1.42 0.11 v
(z) HigE ©
UL (kg/day) 9.25 0.32-0.90 0.60 v
“ &b (kg/day) 46.27 3.01-17.57 8.36 =
Eii%E  (ke/day) 9.25 0.24 - 1.59 0.71 =
#wAbE (kg/day) 0.93 0.00 - 0.00 0.00 =
ALY
(L Z & 1k & &5 8§) 185.06 71.99 - 91.96 82.64 s
(kg/day)
BA b (ke/day) 9.25 0.06 - 0.21 0.12 yiss
— &bt (kg/day) 46.27 2.07-8.90 4.91 yiss
(A)  FEAtn
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(Hem )@ (B/E)

o | AN
?A%?%g@ 5) (ke/h) 093 0.018 =
wmREALEY
(LA bsS & &85 H) 0.73 < 0.004 s
(kg/h)
% 1 (LABR B 51 5 (ke/h) 1.45 <0.032 e
B E(CIBEETR) (ke/h) 0.21 <0.006 v
R RORABE (kg/h) 0.19 < 0.005 s
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(ke/h) 0.0019 < 0.0003 jiss
EReBE_E

i (kg/h) 0.0023 < 0.0001 TE

EudBEEG _HNEE =

(ke/h) 0.019 < 0.0020 yiss

& (kg/h) 0.0019 < 0.0001 =

TS (ng/h) 2,891 12 ye3

Ea

(V) ARRERENRREEZEEI TRE ) PRX#ER > H2F—K
FUUHABG  EEHREBEEEEGL T HER , P -

Q) FEFREZAGNIEAN =TT ERELH FHEHE -
Q) FEFMERZATNIEANHEY#EE -
@) FHEEEG—B)HEME -

o

G) EFEEBEG BB - 8 - b - 8y - 88 858 8- 88 8
(6) fm HIAY 45 S DL 273K ~ 101.3 kPa ~ 52 2w 0y HE R A RS (R ot & &
11% Fs2HEEERIE -

A - W LIPER & f &




B 52 BE P o B P 0
MR ER CERBEYEIBERE (ZE—/(F—H)

28 P22 I PR & & R B FERE
B/&)

B8
B g 15 (7K) B @8@ ey | 123-125 12.4 e
[ fe 5 or e (%) (%{ggﬁég) 64 - 95 76.5 =
ek
#% (ppm) 0.5 <05 <05 =
7K (ppm) 0.1 <0.020 <0.020 v
P8 & (ppm) 10 <05 <05 s
i (ppm) <0.5-6.9 1.3
# (ppm) <05 <05
#i (ppm) <1 <1
# (ppm) < 0.50 - 6.50 0.65
i ;;(I;f’ﬁ)‘ FEH) 25 <25-15.0 3.4 =
#  (ppm) 20 <1 <1 yss
W% (ppm) 10 <5 <5 =
Z A E (ppm) 10 <2.0-44 2.1 yss
#16Y) (ppm) 5 <5 <5 =
B8
g %fmjf W 5,000 <15 <15 v
:fpfﬁ RER 10 <50 <50 s
i&p;b)zﬂﬁﬁ 4= ) < <5 =
% & WA (ppm) 1 <1 <1 ys
TCDD (ITEF %) -
(ppb) 1 <1 <1 =




